https://lwww.leads4pass.com/c2090-012.html

L Qads 4 PQSS 2024 Latest leads4pass C2090-012 PDF and VCE dumps Download

C2090-0120%As

IBM SPSS Modeler Data Analysis for Business Partners v2

Pass home C2090-012 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.leads4pass.com/c2090-012.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by home
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C2090-012 Dumps | C2090-012 PDF Dumps | C2090-012 Braindumps 1/4


https://www.leads4pass.com/c2090-012.html
https://www.leads4pass.com/c2090-012.html
https://www.leads4pass.com/c2090-012.html

https://lwww.leads4pass.com/c2090-012.html

Lead S4Pass o4 iaes leads4pass C2090-012 PDF and VCE dumps Download

QUESTION 1

What new value will be assigned to the original value Low given the specifications in the Reclassify node below?

!

o O[]

Mo Income m

Forunspecified values use: & Onginal value O Default value
Lox ) |cancet L 2o | _Besat]

A -1

.

B.2
C.3
D.4

Correct Answer: B

QUESTION 2

The CRISP-DM Process Methodology is a linear process.
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A. True
B. False

Correct Answer: B

QUESTION 3

Which fields are created by this Derive dialog?

== B[ ]

Derive as. Formula

[ s

Mode: 3 Single @ Mulliple

Drerive frome
& Traveit
E-, Travel2
"-’3 Traveld
oo Travald

Field name exension: |_Eia|:|5»a Addas. @ Sufx O Prefix

Derive as: Formula s 4 TIF: Rafer to selecled fields by using @FIELD

Fleldtpe: [ <Defauts =]

Formula:
(datle_wesks_difference(AcclEsL@FIELD) LE-;.]
li oIl | cancer | | Aoty || Reset|

A. Three fields representing the difference between Travel-1 and each of the other Travel fields
B. No operation will be performed because the expression is invalid.
C. Four fields representing the difference in weeks between AcclEst and each of the Travel fields

D. A field representing the difference between AcctEst and the global @FIELD value
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Correct Answer: C

QUESTION 4

The Matrix node is used to examine the relationship between two categorical fields.
A. True

B. False

Correct Answer: A

QUESTION 5

In the stream below, the CHAID node and Neural Net node can be combined in a single Super node.

L ACELT - -’f_...’?*. »

felco ¥ modeling dat. Filler Diata Known Type \ 'E -.

g4

churn
A. True
B. False
Correct Answer: B
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